


0
P ﬁ-— NAMUR 180 5211 - DIN 3337
NE X 047" 1ig" ANS| B2-1 =
(NEX 047" f—_ =
g A )
o5
#8 g - WPI(E - B :
o 9
-—-H_ }[ _E-—- o
PORT'B \. PORT"A"
24
(007) L M
A H
Mex12 Msxa
- uiﬂ W10 VDIWDE-3845
1Y T
—T
oy S % I TN
e
= _ﬁ IS0 5211 - DIN 3337
.___ﬁ:? i —ﬂi-:—
FO3 Fo4 FO5 FO7 F10
L | ™
a0 @ 36 42 50 70 102
a5} (1,427 (1,657 (1,977 (2,577 (4,017
" M 5x8 M SxB M 6x3 M Bx12 M 10X15
M5x0,327) | (M50,327) | (M6x0,357) | (M&x0,477) | (M 10x0,597)
Dimensioni - Dimensions - MaBe - Dimensions
150 5211
it QxI A B C L M N 0
FO3\05 11 x 13 140 57 71 30,5 40,5 8 12
AP 042A FO4 {0,43" % 0,517 (5,50") 2,247 2,79 (1,207 (1,557 {0,317 (0,477)
"y" (120°) A=194 (7,947)  "X" (180°) A=230 (9,05")
FO3\05 H=25 (0,987) FO4 H=30 (1,18")
FO3\05 11x 13 138 67 93 41,5 51,5 8 12
p—, HR (043"x0,517) [ (543") (2,637) (3,657 (1,63") (2,027) (0,317 (0,47")
"Y' (120°) A=172 (6,77")  "X" (180°) A=211 (8,31")
FO3\05 H=25 (0,98") FO4 H=30 (1,18")
FO3\05 14 x 16 152 83 93 41,5 51,5 8 12
AP 0G3A FOS\07 {0,55" x 0,637 (5,97") (3,267 (3,65") (1,63 (2,027) (0,317 (0,477
"¥" (120°) A=201 (7,917)  "X" (180°) A=220 (8,66")
F03\05 H=25 (0,98") FOS\07 H=30 (1,18")
FOs07 17 x 20 210 100 108 49 59 14 18
AP 075-A (0,67 x 0,79") (8,27") (3,937 (4,247 (1,937 (2,327 (0,55") (0,717)
"y (120°) A=249 (9,80")  "X" (180°) A=298 (11,73")
FOS\07 H=40 (1,57")
e 17 x 20 230 110 118 54 &4 14 18
g (0,67" x 0,79") (9,04") (4,327) (4,64") (2,12") (2,527) (0,55") (0,71%)
"y (120°) A=282 (11,01") "X" (180°) A=338 (13,317)
FOS\07 H=40 (1,57")
o 22 %25 257 125 135 62,5 72,5 14 18
— (0,87"x 0,987 | (10,817 (4,917) (5,307 (2,46 (2,857) (0,55") (0,717
"y (120°) A=332 (13,07") "X" (180°) A=401 (15,79)
FO7\10 H= 55 (2,157

AP 042-A  APO50-A . AP 063-A AP 075-A



H
4% 4 e
(046" % 0,167 IS0 5211 - DIN 3337
L S
MEx 8 {
(M5 % 0 47") *NAMUR
\ =
e ks o
= i
sl Lnaa < a ﬂ a
L__I;_ JJI i EY _L
1 ll =
EREER
PORT "B-4" ] 's, PORT "A-2"
24
‘0,847 L M
A E
VDI\WDE-3845 MG % 12 M5 % &
(MG x 0,47 (M5 % 0,327)
\ |
— Y * AP 042/050-A: NAMUR 1\8" GAS IS0 228-1
i ! NAMUR 1\8” NPT ANSI B2-1
el T o & 1 ? b
; * AP 063/075/085/100/115/125: NAMUR 114" GAS IS0 228-1
SR R ] NAMUR 114" NPT ANSI B2-1
Q- - —E-— i —-0- * AP 145-A: NO NAMUR connections: 1 114" GAS - NPT body
i 2 144" GAS - NPT covers
|_,_Iﬂ- IS0 5211 - DIN 3337
o FO3 Fo4 FO5 FoO7 F10 F12
: o 36 42 ) 70 102 125
(1,427) (1,657 (1,977 (2,577 {4,017 (4,927
M 5x8 M 5x8 M 6x9 M Bx12 M 10x15 M 12x18
(M 5x0,327 | (M5x0,327 | (M6x0,357 | (M8x0,477) | (M10x0,597 | (M 12x0,717)
Dimensioni - Dimensions - Male - Dimensions
1505211
ki QxI A B c L M N o P
FO3\05 Q1lx13 138 57 71 30,5 40,5 8 12 20
Fo4 0,43"x 0,51" 5,50 2,24" 2,79") 1,207 1,557 0,31 0,47 0,79"
e (0,43"x 3 ( ) [ ) [ ] [ ) [ ] (0,317 (f ) (f ),
"¥" (120°) A=154 (6,06") "X" (180°) A=190 (7,48")
FO\05 H=25 (0,98") FO4 H=30 (1,187
FO3\05 Qllx13 138 67 79 41,5 51,5 8 12 20
e FO4 (0,43 0,517 (5,437 (2,63") (3,117 (1,63™) (2,027 (0,317 [0,477) (0,797
"¥" (120°) A=163 (5,427 "X" (180°) A=196 (7,727
FO3\05 H=25 (0,98") FO4 H=30 (1,187
FO3\05 Q1l4x 16 152 83 103 41,5 61,5 8 12 20
P FO5\07 (0,55" % 0,63") (5,97") (3,26") (3,65) (1,63") (2,027 (0,317 (0,477) (0,797
"¥" (120°) A= 180 (7,08") X" (180°) A=214 (8,42")
F3\5\7 H=25)
— Q17x 20 210 100 118 49 69 14 18 20
p——— \ (0,67"x 0,79") (8,27") (3,93") (4,24") (1,93") {2,327 (0,55 {0,717 {0,797
"¥" (120°) A=239 (9,41") "X" (180°) A=297 (11,687
FO5107 H=40 (1,577)
—— Q17x%20 230 110 128 54 74 14 18 20
AP 085-A (0,67"x 0,79") (9,047 (4,32") (4,647) (2,127 (2,527 (0,557 (0,717 (0,797
"¥" (120°) A=273 (10,75") X" (180°) A=332 (13,07")
FO5107 H=40 (1,57")
Fo7\10 Q22x25 257 125 145 62,5 82,5 14 18 20
PIRERRLE \ (0,87"x 0,98") (10,817 (4,91") (5,307 (2,46") (2,85") (0,557 (0,717 (0,797
"¥" (120°) A=322 (12,68") X" (180°) A=398 (15,67")
F5\7\10 H= 55 (2,15
F07110 Q22x25 307 142 166 73 a3 27 36 30
T (0,87"x 0,387 (12,087 (5,59") (6,147 (2,877 (3,277 (1,067 (1,427 (1,187
"¥" (120°) A=363 (14,207 X" (180°) A=451 (17,75")
FO7\10 H= 55 (2,15")
Q27 x 30 359 155 178 79 99 27 36 30
p— F7\ 10112 {1,06"x 1,187 (14,137 {6, 10") (6,61") (3,117 (3,507 {1,067 (1,427 (1,187
"¥" (120°) A=424 (16,70") X" (180°) A=518 (20,39")
F7'10112 H= 55 (2,15")
F10\12 Q27 x 30 388 175 200 g5 105 27 36 30
1,06"x 1,18" 15,28" 6,89") 787" 3,75" 4,13 1,06 1,42" 1,18
SRER ( ) ( ) (! ) ( ) [ ) ( ) ( ) ( ) [ )
F10\12 H= 70 (2,76")




